

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File Number	Title	Status		
R-2008-0183	Resolution	In Committee		
	Resolution to approve bid of Payne & Dolan, Inc. for street construction, sanitary sewer relay, storm sewer relay, building services & utility adjustments in various locations within the City of West Allis, in the amount of \$1,106,696.50.			
	Introduced: 8/5/2008	Controlling Body: Public Works Committee		
		Spansor(s): Public Works Committee		

	RECONANT	ENDATION_	MOOPT				
	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED
ACTION	/		Barczak				~
DATE:			Czaplewski				
			Kopplin				
8-5-2008			Lajsic				
			Narlock				
	-		Reinke				
		-	Roadt Sengstock				
			Vitale				
			Weigel	1			
			TOTAL	4	0		
Chair		Vice-	Chair				
	OUNCIL AC			DOPT	Meml	oei .	
		TION					EVCUCED
COMMON CO	OUNCIL AC		A	DOPT	NO	PRESENT	EXCUSED
COMMON CO		TION	Barczak	AYE			EXCUSED
COMMON CO ACTION DATE:		TION	Barczak Czaplewski				
COMMON CO ACTION DATE:		TION	Barczak	AYE			~
COMMON CO ACTION DATE:		TION	Barczak Czaplewski Kopplin Lajsic Narlock	AYE			~
COMMON CO ACTION DATE:		TION	Barczak Czaplewski Kopplin Lajsic Narlock Reinke	AYE			~
COMMON CO ACTION DATE:		TION	Barczak Czaplewski Kopplin Lajsic Narlock Reinke Roadt	AYE			~
COMMON CO ACTION DATE: UG 0 5 2008		TION	Barczak Czaplewski Kopplin Lajsic Narlock Reinke Roadt Sengstock	AYE			~
COMMON CO ACTION DATE:		TION	Barczak Czaplewski Kopplin Lajsic Narlock Reinke Roadt	AYE			~



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2008-0183 Final Action:

AUG 0 5 2008

Sponsor(s): Public Works Committee

Resolution to approve bid of Payne & Dolan, Inc. for street construction, sanitary sewer relay, storm sewer relay, building services & utility adjustments in various locations within the City of West Allis, in the amount of \$1,106,696.50.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Payne & Dolan, Inc. for 2008 Project No. 12 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Payne & Dolan, Inc. for 2008 Project No. 12:

Street Construction, Sanitary Sewer Relay, Storm Sewer Relay, Building Services & Utility Adjustments in

- W. Manitoba St. from S. 96 St. to S. 99 St.
- W. Rosedale Ave. from S. 96 St. to 110' East of S. 96 St.
- W. Orchard St. from S. 70 St. to S. 72 St.
- W. Mobile St. (North Side) from S. 54 St. to S. 56 St.
- S. 55 St. from 175' North of W. Mobile St. to W. Mobile St.
- W. Harrison Ave. from S. 94 St. to 152' West of S. 94 St.
- W. Hayes Pl. from S. 96 St. to W. Arthur Ave.
- W. Harrison Ave. from S. 96 St. to S. 99 St.
- Alley: S. 95 St. to S. 96 St.; W. Greenfield Ave. to W. Orchard St.
- Alley: S. 94 St. to S. 95 St.; W. Greenfield Ave. to W. Orchard St.
- Health Department Parking Lot at 7120 W. National Ave.

PLAN FILE NOS. W-1244, W-1245, X-793, X-794, X-795, X-796, S-1354, B-812, SP-1133, SP-1134, SP-1135, SP-1136, SP-1137, SP-1138, AP-396, AP-397

for the sum of One Million One Hundred Six Thousand Six-hundred Ninety-Six and 50/100 Dollars (\$1,106,696.50)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices

submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds and Funds from Special Assessments.

ADOPTED

AUG 0 5 2008

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

STREET CONSTRUCTION, SANITARY SEWER RELAY, STORM SEWER RELAY, STORM SEWER, BUILDING SERVICES & UTILITY ADJUSTMENTS

- W. Manitoba St. from S. 96 St. to S. 99 St.
- W. Rosedale Ave. from S. 96 St. to 110' East of S. 96 St.
- W. Orchard St. from S. 70 St. to S. 72 St.
- W. Mobile St. (North Side) from S. 54 St. to S. 56 St.
- S. 55 St. from 175' North of W. Mobile St. to W. Mobile St.
- W. Harrison Ave. from S. 94 St. to 152' West of S. 94 St.
- W. Hayes Pl. from S. 96 St. to W. Arthur Ave.
- W. Harrison Ave. from S. 96 St. to S. 99 St.
- Alley: S. 95 St. to S. 96 St.; W. Greenfield Ave. to W. Orchard St.
- Alley: S. 94 St. to S. 95 St.; W. Greenfield Ave. to W. Orchard St.

Health Department Parking Lot at 7120 W. National Ave.

			Bid Bo	ond 5%
			•	Dolan, Inc.
				Badinger Rd.
			Waukesha	, WI 53188
ITEM	U	NITS	PRICE	TOTAL
1 Borrow Excavation	38	Cu. Yds.	\$35.00	1,330.00
2 Sodding	760	Sq. Yds.	\$8.79	6,680.40
3 Asphalt/Concrete Sawing	5,830	Lin. Ft.	\$1.95	11,368.50
4 Walk & Drive Removal	5,000	Sq. Ft.	\$1.00	5,000.00
5 Curb Removal	1,120	Lin. Ft.	\$7.00	7,840.00
6 Pavement Removal	2,230	Sq. Yds.	\$7.80	17,394.00
7 Asphalt Surface Removal/Preparation of Foundation	6,910	Sq. Yds.	\$9.00	62,190.00
8 Railroad Track Removal	90	Sq. Yds.	\$170.00	15,300.00
9 Cracking & Seating Concrete Pavement	9,280	Sq. Ft.	\$1.32	12,249.60
10 5" Concrete Sidewalk	1,720	Sq. Ft.	\$3.50	6,020.00
11 7" Concrete Walk & Drive	1,240	Sq. Ft.	\$4.20	5,208.00
12 7" H.E.S. Concrete Walk & Drive	940	Sq. Ft.	\$4.50	4,230.00
13 31" Conc. Curb and Gutter	800	Lin. Ft.	\$28.00	22,400.00
14 31" H.E.S. Conc. Curb and Gutter	310	Lin. Ft.	\$30.00	9,300.00
15 8" Concrete Base	1,810	Sq. Yds.	\$34.00	61,540.00
16 8" H.E.S. Concrete Base	210	Sq. Yds.	\$39.00	8,190.00
17 7" Concrete Pavement	290	Sq. Yds.	\$34.00	9,860.00
18 8" H.E.S. Concrete Pavement	450	Sq. Yds.	\$39.00	17,550.00
19 Base Preparation	32	Stations	\$800.00	25,600.00
20 Pavement Milling	10,180	Sq. Yds.	\$5.00	50,900.00
21 Pavement Ties	3,090	Each	\$7.00	21,630.00
22 Base Aggregate Dense, 1 1/4"	170	Tons	\$18.00	3,060.00
23 Tack Coat	1,810	Gallons	\$2.90	5,249.00
24 HMA Pavement, Type E-0.3	3,900	Tons	\$85.37	332,943.00
25 Asphaltic Surface Patching	150	Tons	\$175.00	26,250.00
26 Pavement Marking, Parking Stall, Epoxy, 4-Inch (White)	430	Lin. Ft.	\$8.00	3,440.00
27 Pavement Marking, Symbol, Handicapped, Epoxy (White)	2	Each	\$110.00	220.00
28 Pavement Marking, Crosswalk Line, Epoxy 6-inch (White)	350	Lin. Ft.	\$11.50	4,025.00
29 Pavement Marking, Stop Line, Epoxy, 18-Inch (White)	90	Lin. Ft.	\$16.00	1,440.00
30 Removing Pavement Markings	260	Lin. Ft.	\$4.00	1,040.00
31 8" Sanitary Sewer Relay	218	Lin. Ft.	\$98.00	21,364.00
32 3'-6" Dia. Sanitary Manhole (2)	17	Vert. Ft.	\$196.00	3,332.00
33 Rebuild 3'-6" Dia. Sanitary Manhole (7)	26	Vert. Ft.	\$372.00	9,672.00
34 Install Internal Sanitary Manhole Seals	14	Units	\$150.00	2,100.00
35 8" Sanitary Spot Relays	2	Units	\$6,500.00	13,000.00
36 6" Sanitary Sewer Riser (1)	6	Vert. Ft.	\$73.00	438.00
37 Sanitary Reconnects	6	Units	\$260.00	1,560.00
······································	-	- · · · · · · · · · · · · · · · · · · ·		

City of West Allis
2008 Project No. 12
Bid Opening - 7/31/08

STREET CONSTRUCTION, SANITARY SEWER RELAY, STORM SEWER RELAY, STORM SEWER, BUILDING SERVICES & UTILITY ADJUSTMENTS

W. Manitoba St. from S. 96 St. to S. 99 St.

W. Rosedale Ave. from S. 96 St. to 110' East of S. 96 St.

W. Orchard St. from S. 70 St. to S. 72 St.

W. Mobile St. (North Side) from S. 54 St. to S. 56 St.

S. 55 St. from 175' North of W. Mobile St. to W. Mobile St.

W. Harrison Ave. from S. 94 St. to 152' West of S. 94 St.

W. Hayes Pl. from S. 96 St. to W. Arthur Ave.

W. Harrison Ave. from S. 96 St. to S. 99 St.

Alley: S. 95 St. to S. 96 St.; W. Greenfield Ave. to W. Orchard St.

Alley: S. 94 St. to S. 95 St.; W. Greenfield Ave. to W. Orchard St.

Health Department Parking Lot at 7120 W. National Ave.

			Bid Bo	ond 5%
			Payne & Dolan, Inc.	
			N3 W23650 Badinger Rd.	
			Waukesha	, WI 53188
ITEM		JNITS	PRICE	TOTAL
38 Abandon Sanitary Manhole	1	Unit	\$1,500.00	1,500.00
39 27" Storm Sewer Relay	119	Lin. Ft.	\$137.00	16,303.00
40 12" Storm Sewer	146	Lin. Ft.	\$120.00	17,520.00
41 6" Dia. Building Storm Sewer (1)	28	Lin. Ft.	\$55.00	1,540.00
42 6'-0" Dia. Storm Manhole (1)	9	Vert. Ft.	\$430.00	3,870.00
43 5'-0" Dia. Storm Manhole (1)	7	Vert. Ft.	\$385.00	2,695.00
44 Rebuild 5'-0" Dia. Storm Manhole (1)	10	Vert. Ft.	\$555.00	5,550.00
45 Rebuild 4'-0" Dia. Storm Manhole (2)	25	Vert. Ft.	\$369.00	9,225.00
46 Rebuild 3'-6" Dia. Storm Manhole (32)	81	Vert. Ft.	\$335.00	27,135.00
47 Catch Basins	10	Units	\$1,145.00	11,450.00
48 Alley Type Catch Basins	3	Units	\$1,145.00	3,435.00
49 12" Storm Spot Relay	1	Unit	\$2,300.00	2,300.00
50 Miscellaneous Storm Manhole Repair	6	Units	\$280.00	1,680.00
51 Cellular Concrete	10	Cu. Yds.	\$0.00	0.00
52 6" D.I.W.M. Relay	1,045	Lin. Ft.	\$87.00	90,915.00
53 6" Water Main Connection	1	Unit	\$4,040.00	4,040.00
54 S. 97th Street 6" Water Main Connection	1	Unit	\$4,100.00	4,100.00
55 12" Water Main Connection	1	Unit	\$5,090.00	5,090.00
56 6" Valves	3	Units	\$190.00	570.00
57 Hydrants	3	Units	\$1,570.00	4,710.00
58 Hydrant Replacements	3	Units	\$2,250.00	6,750.00
59 1" Copper Water Service Reconnects	5	Units	\$610.00	3,050.00
60 3/4" Copper Water Service Reconnects	20	Units	\$590.00	11,800.00
61 Adjust Catch Basin Frames	34	Each	\$250.00	8,500.00
62 Adjust Storm Manhole Frames	28	Each	\$325.00	9,100.00
63 Adjust Sanitary Manhole Frames	15	Each	\$340.00	5,100.00
64 Adjust Water Valve Boxes	17	Each	\$170.00	2,890.00
65 Inlet Protection Barriers	57	Units	\$45.00	2,565.00
66 Manhole Protection Barrier	44	Units	\$100.00	4,400.00
67 Traffic Control	1	Lump Sum	\$28,000.00	28,000.00
Total		Į		1,106,696.50